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The figures in the nmargin indicate full marks. 
Candidates shouid answer in their own words 

and adhere to the word limit as practicable. 

(a Define public policy. 

Answer any five questions from the following: (within 30 words each) 

PUBLIC POLICY IN INDIA 

(cWhat is institutionalism? 

(d) What is demand economy? 

(bMention the names of two interest groups that influence policy making in India. 

(e) What role does gate-keepers play in policy making? 
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f) Point out two features of economic liberalisation in India. 

(g) Define Nehruvian vision of policy making. 

(h) Mention two features of public-private partnership. 

Menoriai Gollae 

Answer any two questions from the following: (within 100 words each) 

(Write a short note on the utility of Policy Analysis. 

LIBRARY 

(YMention the names of two institutions that play a crucial role in the process of 
policy making in India. 

Full Marks: 50 

2x5= 10 

5x2 = 10 
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3. 

A Discuss in brief the relationship between political economy and policy making 
process of a state. 

(c) What is the difference between the Nehruvian vision and Neo liberal vision of 
policy making? 

(d) What is structural adjustment programme? 

Answer any three questions taking one from each module: 
(within 350 words each) 

MODULE-I 

(a) What is the objective of public policy? Discuss the characteristic features of 
public policy. 

(b) Briefly analyse the formulation and implementation of public policy in India. 

( Write an essay on the models of public policy. 
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MODULE-II 

(d) Discuss the elite theory to study of public policy. 

your case. 
ate Do you think the Nehruvian vision of policy making is still relevant today? Argue 

MODULE-III 

() Write a note on the policy changes that the Indian state adopted with its economic 
liberalization programme. 

10×3 = 30 
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